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Question Number : 236 Question Id : 226895667708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one of the following guides the entry of the pollen tube into the embryo sac?

1. Antipodal Cells

2. Filiform apparatus
3. Micropyle

4. Synergids

Options :

2268952588678. 1
2268952588679. 2
2268952588680. 3
2268952588681. 4

Question Number : 236 Question Id : 226895667708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. UicioOTaid SRS
2. dqed SUal

3. diWlisar

4. GeTd DS

Options :

2268952588678. 1
2268952588679. 2
2268952588680. 3
2268952588681. 4

Question Number : 237 Question Id : 226895667709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Antibody molecule has:

1. Two peptide chain

2. Three peptide chain

3. Four peptide chain

4. One polypeptide chain

Options :

2268952588682. 1
2268952588683. 2
2268952588684. 3
2268952588685. 4

Question Number : 237 Question Id : 226895667709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952588682. 1
2268952588683. 2
2268952588684. 3
2268952588685. 4

Question Number : 238 Question Id : 226895667710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Choose the correct equation from the following options to show correct relationship between Gross Primary
Productivity (GPP), Respirational Losses (R) and Net Primary Productivity (NPP).

1.GPP = R/ (NPP)?
2. GPP = 2NPP+R

3. GPP= NPP-R
4. GPP-R = NPP
Options :

2268952588686. 1
2268952588687. 2
2268952588688. 3
2268952588689. 4

Question Number : 238 Question Id : 226895667710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.GPP = R/ (NPP)?
2. GPP = 2NPP+R

3. GPP= NPP-R
4. GPP-R = NPP
Options :

2268952588686. 1
2268952588687. 2
2268952588688. 3
2268952588689. 4

Question Number : 239 Question Id : 226895667711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-l
Disease Characteristic symptoms
(A) Malaria (I} Inflammation of lower limb

(B) Filariasis (Il Cycles of fever

(C) Ringworms  |(lll) Blood clots and excess mucus in stools

(D) Amoebiasis |(IV) Scaly lesions on nails

Choaose the correct answer from the options given below:

1. (A) - (V). (B) - (1), (C) - (), (D) - (1)

2. (A) - (1), (B) - (D), (C) - (), (D) - (1V)

3. (A) - (), (B) - ), (Q) - (V). (D) - ()

4. (A) - (), (B) - (V) (C) - (1), (D) - (1)
Options :

2268952588690. 1
2268952588691. 2
2268952588692. 3
2268952588693. 4

Question Number : 239 Question Id : 226895667711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(V), (B)-(1). (T)-(1), (D)-(1)
2. (A)-(. (B)-(n, (©)-(1n, (D)-(1V)
3. (A)-(1. (B)=(1). (C)-(1V). (D)-(111)
4. (A)-(), (B)-(V), (©-(1). (D)-(1D

Options :

2268952588690. 1
2268952588691. 2
2268952588692. 3
2268952588693. 4

Question Number : 240 Question Id : 226895667712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 to List-11

List-1 List-1
Producer Acid

(A) Clostridium butylicum (1} Lactic acid
(B) Aspergillus niger (11} Butyric acid
(C) Acetobacter aceti {IlN) Citric acid
(D) Lactobacillus (IV) Acetic acid

Choaose the correct options

1.(A) - (. () - (I, (C) - (), (D) - (IV)
2. (A)- (0, (B) - (N, () - (V). (D) - ()
3. (A) - (1), (BY - (I, (©) - (V). (D) - ()
4. (A) - (1), (B) - (V). (Q) - (1), (D) - (1)

Options :

2268952588694. 1
2268952588695. 2
2268952588696. 3
2268952588697. 4

Question Number : 240 Question Id : 226895667712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(0. (B)-(1), (C)-(1), (D)-(IV)
2. (A)-01), (B)=(1m), (C}-(1v), (D)-(1)
3. (A)-(1), (B)-(, (C)-(1V), (D)-(1)
4. (A)-(), (B)-(V), (©-(). (©)-(1D

Options :

2268952588694. 1
2268952588695. 2
2268952588696. 3
2268952588697. 4

Question Number : 241 Question Id : 226895667713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one of the following is opposite part of micropylar end of ovule.

1. Hilum
2. Chalaza
3. Funicle
4. Nucellus

Options :

2268952588698. 1
2268952588699. 2
2268952588700. 3
2268952588701. 4

Question Number : 241 Question Id : 226895667713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952588698. 1
2268952588699. 2
2268952588700. 3
2268952588701. 4



Question Number : 242 Question Id : 226895667714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List I with List Il

List 1 List Il

Technique / term Features

(&) Amniocentesis (1) Ligation of fallopian tube
(B) Maternal mortality rate (1) Ligation of vas deferens
(C) Vasectomy (1) Death rate

(D) Tubectomy (IV) Testing of sex

Choose the correct options:

1.(A) - (0. (B) - (I, (Q) - (), (D) - (IV)
2. (A) - (V), (B) - (1), (C) - (), (D) - (O
3. (A) - (), (B) - (V). (Q) - (1), (D) - (1)
4. (A)- (0, (B) - (0. () - (), (D) - (V)

Options :

2268952588702. 1
2268952588703. 2
2268952588704. 3
2268952588705. 4

Question Number : 242 Question Id : 226895667714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(0: (B)-(1), (Q)-(), (D)-(IV)
2. (A)-(V), (B)-(1T), (C)-(), (D)-(1)
3. (A)-(n), (B)-(1v), (C)-(, (D)-(11)
4. (A)-00, (B)-(1), (©)-(1), (B)-(1V)

Options :

2268952588702. 1
2268952588703. 2
2268952588704. 3
2268952588705 4

Question Number : 243 Question Id : 226895667715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which type of innate Immunity is exhibited by interferons secreted by virus infected cells to protect non infected cells?

1. Physical barriers

2. Cytokine barriers

3. Physiological barriers
4. Cellular barriers

Options :

2268952588706. 1
2268952588707. 2
2268952588708. 3
2268952588709. 4

Question Number : 243 Question Id : 226895667715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952588706. 1
2268952588707. 2
2268952588708. 3
2268952588709. 4

Question Number : 244 Question Id : 226895667716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The process of copying genetic information from one strand of DNA into RNA is termed as -

1. Replication
2. Translation
3. Transcription
4, Regulation

Options :

2268952588710. 1
2268952588711.2
2268952588712. 3
2268952588713. 4

Question Number : 244 Question Id : 226895667716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952588710. 1
2268952588711.2
2268952588712. 3
2268952588713. 4

Question Number : 245 Question Id : 226895667717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Arrange the following events in the correct order pertaining to fertilization in the human reproductive system.
{A) The blastocyst becomes embedded in the endometrium.

(B) Finger-like projections appear on the trophoblast called chorionic villi.

(C) The blastomeres are arranged into trophoblast and the inner cell mass.

(D) The zygote divides miotically and transforms into an embryo with 8-16 blastomeres, called a morula.

Choose the correct answer from the options given below.

Options :

2268952588714. 1
2268952588715.2
2268952588716. 3
2268952588717. 4

Question Number : 245 Question Id : 226895667717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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D). (C). (A). (B)
A). (©). (B), (D)
(B, (A), (D), (Q)
4.(C). (B), (D), (A)

ety

1.
2.
3.

Options :

2268952588714 1
2268952588715.2
2268952588716. 3
2268952588717. 4

Question Number : 246 Question Id : 226895667718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following are not involved in intra uterine devices?
{A) Lippes Loop

(B) LNG-20

(C) Saheli

(D) Implants

Choose the correct answer from the options given below:

1. (4), (B) and (D) only
2. (C) and (D) enly

3. (A), (B), () and (D)
4.(C), (B) and (D) only

Options :

2268952588718. 1
2268952588719. 2
2268952588720. 3
2268952588721. 4

Question Number : 246 Question Id : 226895667718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. 99d (A), (B) 3R (D)
2. %4d () 3R (D)
3.(A), (B), (C) 3R (D)
4. %44 (C), (8) 3R (D)

Options :

2268952588718. 1
2268952588719.2
2268952588720. 3
2268952588721. 4

Question Number : 247 Question Id : 226895667719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match the List-1 with List-1I

List-1 List-II
Character Recessive Trait
(&) Flower Colour (I} Green

(B) Seed colour (1) Yellow

(C) Pod colour (Il) Constricted
(D) Pod shape (V) White

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (V). (©) - (1), (D) - (1)
2. (A) - (1, (B) - (IV), (C) - (), (D) - (1)
3.(A) - (0, (B) - (1), (C) - (V). (D) - (1)
4. (A) - (

A) - (), (B) - (1), () - (1), (D) - (1)

Options :

2268952588722. 1
2268952588723.2
2268952588724. 3
2268952588725. 4

Question Number : 247 Question Id : 226895667719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(11), (B)-(1V), (Q-(), (D)-(11D)

2. (A)-(1), (B)-(1V), (Q)-(I0), (D)-(11)

3. (A)-(D, (B)-(1), (O)-(1V), (D)-(1D)

4. (A)-(V). (By-(1). (Q-(1n), (D)-(l1)

Options :

2268952588722. 1
2268952588723. 2
2268952588724. 3
2268952588725. 4

Question Number : 248 Question Id : 226895667720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one of the following is not associated with the process of transcription in bacteria?

1. Rho factor

2. Methyl guanosine triphosphate
3. Sigma factor

4. DNA dependent RNA polymerase

Options :

2268952588726. 1
2268952588727.2
2268952588728. 3
2268952588729. 4

Question Number : 248 Question Id : 226895667720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952588726. 1
2268952588727.2
2268952588728. 3
2268952588729. 4



Question Number : 249 Question Id : 226895667721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following disorders are the results of aneuploidy?
{A) Haemophilia

(B) Down's Syndrome

(C) Thalassemia

(D) Turner's Syndrome

Choose the correct answer from the options given below:

1. (B) and (D) only

2. (A), (B} and (C) only

3. (A), (B), (C) and (D)

4, (A) and (C) only
Options :
2268952588730. 1
2268952588731.2

2268952588732. 3
2268952588733. 4

Question Number : 249 Question Id : 226895667721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952588730. 1
2268952588731.2
2268952588732 3
2268952588733. 4

Question Number : 250 Question Id : 226895667722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which one of the following options will express intermediate skin colour in an individual?

1. BABBCC
2. aabbec
3. AaBbCc
4. aaBbcc

Options :

2268952588734. 1
2268952588735. 2
2268952588736. 3
2268952588737. 4

Question Number : 250 Question Id : 226895667722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. AABBCC
2. aabbec
3. AaBbCc
4. aaBbcc

Options :

2268952588734. 1
2268952588735.2
2268952588736. 3
2268952588737. 4

Question Number : 251 Question Id : 226895667723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

Name of the gene | Encodes

()T (I) Permease

(B) 'z (Il) Repressor

<y (I} Transacetylase
(D) & (IV) B- Galactosidase

Choose the correct an

swer from the options given below:

1. (A) - (1V), (B) - (), (C) - (1), (D} - (1)

2. (A) - (1), (B) - (1), (C) - (W), (D) - (IV)

3. (A) - (1), (B) - (V). (C) - (1) (D) - (my

4. (A) - (), (B) - (V) (C) - (I, (D) - (I
Options :

2268952588738. 1
2268952588739. 2




2268952588740. 3
2268952588741. 4

Question Number : 251 Question Id : 226895667723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(V), (B)-(1), (C)-(1m), (D)-(1)
2. (A)-(. (B)-(in), (C)-(1), (B)-(1V)
3. (A)-(1), (B)-(IV), (Q)-(1). (D)-(11)
4. (A)-0n), (B)-(V), (O-(1). (D)-(1N)

Options :

2268952588738. 1
2268952588739.2
2268952588740. 3
2268952588741. 4

Question Number : 252 Question Id : 226895667724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is incorrect with reference to drug abuse?

1. Cannabinoids affect cardiovascular system of the body.
2. Hercin is extracted from the latex of Papaver somniferum.
3. Nicotine is a very effective sedative and pain killer.

4. Excessive dosage of coca alkaloid causes hallucinations.

Options :

2268952588742. 1
2268952588743. 2
2268952588744. 3
2268952588745. 4

Question Number : 252 Question Id : 226895667724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2268952588742. 1
2268952588743. 2
2268952588744. 3
2268952588745. 4

Question Number : 253 Question Id : 226895667725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1

Arrange the given steps involved in gel electrophoresis used for separation of DNA fragments ?

{A) Exposure to UV light

(B) Staining with ethidium bromide

{C) Moving of DNA fragments towards anode

(D) Elution

Choaose the correct options given below

(G (D)

, (D), (C
(8) (C

A), (D)

(A). (B
(B, (A
(A (
Q. (

Loty
e

]
1]

&

1.
2.
3.
4. B),

—

Options :

2268952588746. 1
2268952588747.2
2268952588748. 3
2268952588749. 4

Question Number : 253 Question Id : 226895667725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.(A), (B),
2. (B}, (A),
3. (A (

4. (C), (B). (M), (D)
Options :
2268952588746. 1
2268952588747. 2
2268952588748. 3
2268952588749. 4

Question Number : 254 Question Id : 226895667726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1l

Product Producer

(&) Citric Acid (1) Trichoderma polysporum
(B) Ethanol (1) Monascus purpureus

(C) Statins (1) Sachharomyces cerevisiae
(D) Cyclosporin A (IV) Aspergillus niger

Choose the correct answer from the options given below:

1. (A) - (1V), (B) - (1), () - (), (D) - (1)
2. (A) - (0. (B) - (), (C) - (), (D) - (IV)
3..(A) - (), (B) - (), (C) - (V). (D) - (1)
4. (A) - (), (B) - (V). (Q) - (1), (D) - (1)

Options :

2268952588750. 1
2268952588751.2
2268952588752 3
2268952588753. 4

Question Number : 254 Question Id : 226895667726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(V), (B)-(11), (O-(1), (D)-(1)
2. (A)-(), (B)-(1n), (©)-(1n), (D)-(1V)
3. (A)-0). (B)-(11), (©)-(1V), (D)-(111)
4. (A)-(m), (B)-(V), (©-(). (@)-(1D

Options :

2268952588750. 1
2268952588751. 2
2268952588752. 3
2268952588753. 4

Question Number : 255 Question Id : 226895667727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



EcoRl, a significant tool in rDNA technology is -

1. Bacteria
2. Plasmid
3. Enzyme
4. Purine

Options :

2268952588754. 1
2268952588755. 2
2268952588756. 3
2268952588757. 4

Question Number : 255 Question Id : 226895667727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

EcoRl, rDNA U@ & Us Ae@qul IudU g, &l & ...t |

1. daiar
2. TS
3. USTgH
4.9

Options :

2268952588754. 1
2268952588755.2
2268952588756. 3
2268952588757. 4

Question Number : 256 Question Id : 226895667728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following geological periods in their occurrence from latest to oldest order.
{A) Triassic
(B) Carboniferous
(C) Tertiary
(D) Jurassic

Choose the correct answer from the options given below:

Options :

2268952588758. 1
2268952588759.2
2268952588760. 3
2268952588761 4



Question Number : 256 Question Id : 226895667728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofafaa Yo e oral @ 3@t ge- o Tdiar U Ied GF $H § oJated @t
(A) TARD

(B) BIENHIH

(C) JATTD (Tertiary)

(D) [P

<12 fow 7 faped! 21 4 Wl SR

1.
2.
&l
4.

Options :

2268952588758. 1
2268952588759.2
2268952588760. 3
2268952588761 4

Question Number : 257 Question Id : 226895667729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following steps are related to polymerase chain reaction (PCR)?
{A) Extension

(B) Annealing

{C) Propagation

(D) Denaturation

Choose the correct answer from the options given below:

1. (&), (B) and (D) only
2. (A), (B} and (C) only
3. (A), (B), (C) and (D)
4. (B), (C) and (D) only
Options :
2268952588762. 1
2268952588763.2
2268952588764. 3
2268952588765. 4

Question Number : 257 Question Id : 226895667729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Fafaiad & § 19 91 =R dicdieEs 94 RuaeE (dl, 9. 3R, 9 9dfid 82
(A) I

(8) TTATEIeH

(C) TEROT (HITTTRH)

(D) FAfErgsIo

d few e famedl § 9 9 Sw 9

1.%ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (O)
3. (A), (B), (C) R (D)

4.%ad (B), (C) IR (D)

Options :

2268952588762. 1
2268952588763.2
2268952588764. 3
2268952588765. 4

Question Number : 258 Question Id : 226895667730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Baculoviruses are pathogens that attack :

1. Insects

2. Roundworms
3. Molluscs

4. Birds

Options :

2268952588766. 1
2268952588767. 2
2268952588768. 3
2268952588769. 4

Question Number : 258 Question Id : 226895667730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

SR U] IRTSHE & ol gHal B o

1. ®BIE W
2. P |
3. Hgadl (HIAwh) )

4. T8I W

Options :

2268952588766. 1
2268952588767.2
2268952588768. 3
2268952588769. 4



Question Number : 259 Question Id : 226895667731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The number of individuals in the reproductive age group is more than the number of individuals in the pre-
reproductive age group, the shape of its age pyramid would reflect the growth status of the population as:

1. Expanding
2. Stable

3. Declining

4. Homeostasis

Options :

2268952588770. 1
2268952588771.2
2268952588772. 3
2268952588773. 4

Question Number : 259 Question Id : 226895667731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U 31 @t § cafdadl @1 T gd-ueH A1 aF § oafaadl @ O § i@ §, S oy RIS @1 siaR S8
@1 gl 31 [Ufd B 34 IR g2l &:

1. Fgdl g
2. AR

3. gedl gl
4, GHEROT

Options :

2268952588770. 1
2268952588771.2
2268952588772 3
2268952588773. 4

Question Number : 260 Question Id : 226895667732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statements are true with reference to homology or homologous organs?
{A) Homology indicates common ancestry.

(B) Whale and Cheetah share similarities in the pattern of the bones of the forelimbs.

(C) Vertebrate heart is an example of homologous organs.

(D) Thorn of Bougainvillea and tendrils of cucurbita represent homology.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), () and (D)

4. (B), (C) and (D) only

Options :
2268952588774. 1



2268952588775. 2
2268952588776. 3
2268952588777. 4

Question Number : 260 Question Id : 226895667732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

fFroffad & 8 & O Sy Iread 91 9Herd o & ge § Wl 2
(A) THSICAT W= 9RNad! &1 SR Bl o

(8) =d 3R T &1 3pE ®1 gfEal & Ue § gHHart 9= &3d 8
(C) P! TCT THSI 37T P LD SGE0 ¢

(D) FITIaIcrTS Bic AR Pablderd WA FHIIdl Haikid $d ol
i feg e faedl § 9wl IW I

1.®4d (A), (B) 3R (D)
2.%ad (4), (B) 3R ()
3. (A), (B), (C) 3R (D)

4.%ad (), (C) 3R (D)

Options :

2268952588774. 1
2268952588775.2
2268952588776. 3
2268952588777. 4

Question Number : 261 Question Id : 226895667733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the following groups of plants according to their appearance on earth.
{A) Angiosperms

(B) Seed ferns

(C) Rhynia type plants

(D) Psilophyton

Choose the correct answer from the options given below:

Options :

2268952588778. 1
2268952588779.2
2268952588780. 3
2268952588781. 4

Question Number : 261 Question Id : 226895667733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



diteft & FmfaRed TiE! @) 1dt R 39 oifavfa & SoR oafl[ &
(A) STl

(B) dieit guTfay

(C) TS W= e

(D) WrSCBTEE

fdl feu 7Te fad el § 9 Ugl IR 9

Options :

2268952588778. 1
2268952588779.2
2268952588780. 3
2268952588781. 4

Question Number : 262 Question Id : 226895667734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

If a man is eating fish as his food, which trophic level is occupied by him in the foed chain?

1. First

2. Second
3. Third
4. Fourth

Options :

2268952588782. 1
2268952588783. 2
2268952588784. 3
2268952588785. 4

Question Number : 262 Question Id : 226895667734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

ofe Bis Afdd 304 Y & &9 H Aga 91 38 6, df 9g S8 1 dg 6y 0N TR W e?

1. Ugel
2. G
3.0
4. 911

Options :

2268952588782. 1
2268952588783.2
2268952588784. 3
2268952588785. 4



Question Number : 263 Question Id : 226895667735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Thorn of Bougainvillea and tendril of Cucurbita are:

1. Homologous structures
2. Analogous structures
3. Vestigial structures

4. Developing structures

Options :

2268952588786. 1
2268952588787.2
2268952588788. 3
2268952588789. 4

Question Number : 263 Question Id : 226895667735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

RIS it AR pepivers var &

1. GHSId Gegd
2. JE WAl
3. (@Yl TEAE
4. faoraeia gt

Options :

2268952588786. 1
2268952588787. 2
2268952588788. 3
2268952588789. 4

Question Number : 264 Question Id : 226895667736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A small standing crop of phytoplankton supports a large standing crop of zooplankton. This can be correctly
represented by:

1. Inverted pyramid of energy

2. Inverted pyramid of biomass

3. Upright pyramid of biomass

4. Sometimes upright and sometimes inverted pyramid of energy

Options :

2268952588790. 1
2268952588791.2
2268952588792. 3
2268952588793. 4

Question Number : 264 Question Id : 226895667736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



UICU-RigP Bl U BT Wl By HIUil-wiad @I U g9l Wol BHd &I YeRI adl | 39 4 & GRT 981 &7 9 g &
T&Hdl o

Options :

2268952588790. 1
2268952588791. 2
2268952588792. 3
2268952588793. 4

Question Number : 265 Question Id : 226895667737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The first isolated restriction endonuclease was:

1. Hind II
2. EcoR |
3. BamH |
4. Pvu Il

Options :

2268952588794. 1
2268952588795.2
2268952588796. 3
2268952588797. 4

Question Number : 265 Question Id : 226895667737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Uedl Uy il T[T Uiddys UsiHgaies Ut

1. Hind It
2. EcoR |
3. BamH |
4. Pvu Il

Options :

2268952588794. 1
2268952588795.2
2268952588796. 3
2268952588797. 4

Question Number : 266 Question Id : 226895667738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the given products formed during sewage treatment in correct sequence 7
{A) Biogas

(B) Activated sludge

(C) Flocs

(D) Primary sludge

Choose the correct options given below

A),

1.(
2.(

3. {C}, D). (B
4.(

Options :

2268952588798. 1
2268952588799. 2
2268952588800. 3
2268952588801. 4

Question Number : 266 Question Id : 226895667738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

dIfgd Hel SUAR & GRHE &4 ardl Fafiiad Sare! ®f 3fad o1 H ouafiyd ot
(A) SEEE

() T4 md®

(C) Hufe

D) WU HUdH
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2.
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(
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3
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B), (A
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—

e e )
— —
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(B

S
—
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Options :

2268952588798. 1
2268952588799. 2
2268952588800. 3
2268952588801. 4

Question Number : 267 Question Id : 226895667739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Wildlife safari parks are example of-

1. Ex situ Conservation
2. In situ conservation
3. Biodiversity hot spots
4. Sacred grooves

Options :

2268952588802. 1
2268952588803. 2
2268952588804. 3
2268952588805. 4

Question Number : 267 Question Id : 226895667739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

gguild BRI I ST 361830 © -

1. GIgT =T /UG- i WRe
2. TR T

3. 9ig fafgyar gic Wi

4. Ofg7 IuaA

Options :

2268952588802. 1
2268952588803. 2
2268952588804. 3
2268952588805. 4

Question Number : 268 Question Id : 226895667740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Humification leads to :

1. Soil erosion

2. Soil conservation

3. Accumulation of humus
4. Accumulation of salts

Options :

2268952588806. 1
2268952588807. 2
2268952588808. 3
2268952588809. 4

Question Number : 268 Question Id : 226895667740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



fheEH & HRU el 8

1. THET &1 &RUI/3MRG
2. HaT HIE0T

3. BEUHY @ 599

4. IqUT &I dY

Options :

2268952588806. 1
2268952588807. 2
2268952588808. 3
2268952588809. 4

Question Number : 269 Question Id : 226895667741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If a double-stranded DNA has 15% of adenine, find out the percent of cytosine in the DNA 7

1.15%
2.30%
3.35%
4.85%

Options :

2268952588810. 1
2268952588811. 2
2268952588812. 3
2268952588813. 4

Question Number : 269 Question Id : 226895667741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

afe ofe, feeem! 31 u4 € & v 15 Ufas €, df Siuqd & g5eifad & uiasrd 91d &1

1. 15 Wid=d
2. 30 Ui
3. 35 Ul
4. 85 U=

Options :

2268952588810. 1
2268952588811.2
2268952588812. 3
2268952588813. 4

Question Number : 270 Question Id : 226895667742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Transgenic animals are used to understand the contribution of genes in the development of diseases such as:

1. Cholera and typhoid

2. Elephantiasis and ringworm
3. Cancer and cystic fibrosis
4. Pneumoenia and kala-azar

Options :

2268952588814. 1
2268952588815.2
2268952588816. 3
2268952588817. 4

Question Number : 270 Question Id : 226895667742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

URSId] SFaR! BT I AT & e & SiF & avaH & 9a3H & foe f&ar o & o &

1. 29l 3R TEEIES

2. iU AR gE

3. R IR G YA
4. i1 3R FIE-39R

Options :

2268952588814. 1
2268952588815. 2
2268952588816. 3
2268952588817. 4

Question Number : 271 Question Id : 226895667743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Genetically modified plants have been useful in:

1. Increasing post harvest losses

2. Decreasing crop yield

3. Making crops tolerant to stresses.

4. Decreasing efficiency of mineral usage by plants

Options :

2268952588818. 1
2268952588819.2
2268952588820. 3
2268952588821. 4

Question Number : 271 Question Id : 226895667743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



AR w4 Ui O g & Syl @ &

1. HUT ®Hels & 86 JouH 86 6l &
2. YA @I UgaR H &l

3. BUl &I 91d & Ufd FEw] &

4. Uil gRT @il SUGRT &1 &l § &

Options :

2268952588818. 1
2268952588819. 2
2268952588820. 3
2268952588821. 4

Question Number : 272 Question Id : 226895667744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is the primary female sex organ?

1. Mammary glands
2. Uterus

3. Ovaries

4. Cervix

Options :

2268952588822. 1
2268952588823. 2
2268952588824. 3
2268952588825. 4

Question Number : 272 Question Id : 226895667744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fafafea & § o a1 afgar & ufas 319 FT 82

1. &4 Ay
2. e
3. HEEH
4. e Uit

Options :

2268952588822. 1
2268952588823.2
2268952588824. 3
2268952588825. 4

Question Number : 273 Question Id : 226895667745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which one of the following structure is hapleid (n) in relation to male reproductive system?

1. Secondary spermatocytes
2. Primary spermatocytes

3. Leydig cells

4. Sertoli cells

Options :

2268952588826. 1
2268952588827. 2
2268952588828. 3
2268952588829. 4

Question Number : 273 Question Id : 226895667745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

5y U quen & gay o Fafeiaa § @ oF O g3 oaqfd (n) 82

IREGIREAELRCAIEE Y
2. U8 1] SIS
3. st Sifken
4. Gefch Sifkiemd

Options :

2268952588826. 1
2268952588827. 2
2268952588828. 3
2268952588829. 4

Question Number : 274 Question Id : 226895667746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Of the incident solar radiation, what is the percentage of photosynthetically active radiation (PAR)?

1. 100%

2. Less than 50%
3.1-2%

4. 2-10%

Options :

2268952588830. 1
2268952588831.2
2268952588832. 3
2268952588833. 4

Question Number : 274 Question Id : 226895667746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



IR fafe o ¥ ueTe I=afd ¥u ¥ Oiey fafeo (. T 3m) &1 ufawa dn 87

1.100%

2. 50 Ufad 4 &9
3.1-5%

4.2-10%

Options :

2268952588830. 1
2268952588831.2
2268952588832. 3
2268952588833. 4

Question Number : 275 Question Id : 226895667747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

ELISA is based on the principle of -

1. Antigen - antibody interaction
2. PCR

3. Radioactive molecule

4. Amount of DNA

Options :

2268952588834. 1
2268952588835. 2
2268952588836. 3
2268952588837. 4

Question Number : 275 Question Id : 226895667747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

TASHT (ELISA) & fogidaw anuia g -

1. Hiche-ufaRel urwRe fear
2. 4r i amR

3. 3F&greT 3y

4, SITU B AT

Options :

2268952588834. 1
2268952588835. 2
2268952588836. 3
2268952588837. 4

Sub-Section Number : 2
Sub-Section Id : 22689527334
Question Shuffling Allowed : No

Question Id : 226895667748 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (276 to 280)



Read the passage carefully and answer the questions based on the passage:

Species diversity on earth is not uniformly distributed. It is generally highest in the tropics and decreases towards the
poles.Earth's fossil history reveals the incidences of mass extinctions in the past. Earth's rich biodiversity is vital for the very
survival of mankind. It is believed that communities with high diversity tend to be less variable and more productive. The
reasons of conserving biodiversity are narrowly utilitarian, broadly utilitarian and ethical. Biodiversity conservation may be in situ

as well as ex-situ.

Sub questions

Question Number : 276 Question Id : 226895667749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Which of the following is not included in in-situ conservation?

1. Zoological park

2. National park

3. Wild life sanctuary
4. Biosphere reserves

Options :

2268952588838. 1
2268952588839. 2
2268952588840. 3
2268952588841. 4

Question Number : 277 Question Id : 226895667750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one of the following does not exhibit narrowly utilitarian argument for conserving biodiversity?

1. Construction materials
2. Pollination

3. Industrial products

4. Medicines

Options :

2268952588842. 1
2268952588843. 2
2268952588844. 3
2268952588845. 4

Question Number : 278 Question Id : 226895667751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following might not account for the greater biological diversity in the tropic region?

1. Frequent glaciations in the past

2. More solar energy available

3. Less seasonal and more constant and predictable
4. Undisturbed for million of years

Options :
2268952588846. 1



2268952588847. 2
2268952588848. 3
2268952588849. 4

Question Number : 279 Question Id : 226895667752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

How many episodes of mass extinction of species have occurred since the origin and diversification of life on earth?

1. Two
2. Three
3. Five
4. Seven

Options :

2268952588850. 1
2268952588851. 2
2268952588852. 3
2268952588853. 4

Question Number : 280 Question Id : 226895667753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Which of the following hot spots does not cover India’s biodiversity regions?

1. Western Ghats-5ri Lanka
2. Amazon forests

3. Indo-Burma

4. Himalaya

Options :

2268952588854. 1
2268952588855.2
2268952588856. 3
2268952588857. 4

Question Id : 226895667748 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (276 to 280)

fw v TeTw ) w9 ok FEfRa st F IR 3
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Tt &1 WA Siaerd 3fdid o 9o U9H W 30w B @ 9e-13i @l Uhe ol o Gl @i U5g 9id fafaear 9Ha oifd & sifiaa
& fore me@udl &1 1 91 9T @ % 9= fafdemr aer 9o o1 uRadasid ok e Sues sid 51 99 fafauar & Wenr &
DR IB1U Y I ICIFFEE], Ji¢ dR R IuifaEd ok Afae §1 o fafduar dev @H (37 - o) & WY-a gey
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Sub questions

Question Number : 276 Question Id : 226895667749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



fgfafea ¥ § wwH Sen g eF e sl & 2

1. Sig/oit 3

2. 91 FIH

3. ggvild BRI

4. Jarsq ARfEfaa

Options :

2268952588838. 1
2268952588839. 2
2268952588840. 3
2268952588841. 4

Question Number : 277 Question Id : 226895667750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Fofafaa & § o 91 99 fafaydr & e & o U@ ©U 9 STUiiaae! 9o Uailid Te) &dl o7

1. oo g
2. QRATOY

3. AEIA® AR
4, %ard

Options :

2268952588842. 1
2268952588843.2
2268952588844. 3
2268952588845. 4

Question Number : 278 Question Id : 226895667751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. 3{did § 9R-9R fgaad

2. 31fie TR Folf Juce &

3. ®H ArgH! &R s fRR 9 e arg
4. TRGT aut ¥ i

Options :

2268952588846. 1
2268952588847. 2
2268952588848. 3
2268952588849. 4

Question Number : 279 Question Id : 226895667752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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1.8l

2.9H
3.0
4,919

Options :



2268952588850. 1
2268952588851. 2
2268952588852. 3
2268952588853. 4

Question Number : 280 Question Id : 226895667753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

fafafad & 4 o4 91 gfc Wic YRd & 914 fafaydr &7 &1 9t Tef Hidl o7

1. QiEE are-sfidar
2. e a

3. gal-adl

4. ferreg

Options :

2268952588854. 1
2268952588855.2
2268952588856. 3
2268952588857. 4

Sub-Section Number : 3
Sub-Section Id : 22689527335
Question Shuffling Allowed : No

Question Id : 226895667754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (281 to 285)

Read the passage carefully and answer the questions based on the passage:

Pollen pistil interaction involves all events from the landing of pollen grains on the stigma until the pollen tube enters the
embryo sac (when the pollen is compatible). When a pollen tube grows through the style and enters into the ovules, it finally
discharges two male gametes in one of the synergids. Syngamy and triple fusion are two fusion events occur in angiosperms.
Thus, angiosperms exhibit double fertilization. The products of these fusions are the diploid zygote and triploid primary
endosperm nucleus. Zygote develops into embryc and primary endosperm cell forms the endosperm tissue. The developing
embryo passes through different stages before maturation.

Sub questions

Question Number : 281 Question Id : 226895667755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

With reference to reproduction in flowering plants, which one of the following is incorrect 7

1. Endospern develops into seed

2. Ovary develops into fruit

3. Ploidy of PEN is 3n

4. Syngamy is the fusion of male and female gamete

Options :

2268952588858. 1
2268952588859.2
2268952588860. 3
2268952588861. 4



Question Number : 282 Question Id : 226895667756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Which of the following is not a stage of growing embryo in dicotyledon plants?

1. Heart-shaped
2. Globular

3. Proembryo
4. Epiblast

Options :

2268952588862. 1
2268952588863. 2
2268952588864. 3
2268952588865. 4

Question Number : 283 Question Id : 226895667757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The coconut water from tender coconut, a good source of nutrition is nothing but:

1. Free-nuclear endosperm
2. Synergids

3. Antipodal cells

4. Scuteflum

Options :

2268952588866. 1
2268952588867. 2
2268952588868. 3
2268952588869. 4

Question Number : 284 Question Id : 226895667758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Formation of diploid zygot is a result of :

1. Emasculation
2. Triple fusion
3. Syngamy

4. Bagging

Options :

2268952588870. 1
2268952588871. 2
2268952588872. 3
2268952588873. 4

Question Number : 285 Question Id : 226895667759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



If there are 38 chromosomes in the zygote, how many chromosomes will be there in its haploid egg cell?

1.38
2.57
3.19
4.76

Options :

2268952588874. 1
2268952588875.2
2268952588876. 3
2268952588877. 4

Question Id : 226895667754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (281 to 285)
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Sub questions

Question Number : 281 Question Id : 226895667755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

gudl Ol § S & deH |, Fafiiad J 9 & @ e 82

1. sl di9 1 fasfia eiar &

2. dsma B | fAefdgiars
3.1.3.09. @I @i5al 3n g

4. foaed R iR TEr g o e

Options :

2268952588858. 1
2268952588859. 2
2268952588860. 3
2268952588861. 4

Question Number : 282 Question Id : 226895667756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FfeiEd 7 9 o 1 fReierwE el 5 YU & Sg- &1 36T T8l 82

1. BGU & SR drdl
2. B R
3. Uit
4. TiUsTRe

Options :



2268952588862. 1
2268952588863. 2
2268952588864. 3
2268952588865. 4

Question Number : 283 Question Id : 226895667757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

BT A1 U I A1Rgd &1 U1 Sl [ 919 &1 Ud 3dH %id &, 98 R $S qal, HfUd &

1. Th1-fdea Tereay]
2. JeTd DI

3. Ufcoaryid ST
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Options :

2268952588866. 1
2268952588867. 2
2268952588868. 3
2268952588869. 4

Question Number : 284 Question Id : 226895667758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

fE1ford gt @1 FAEioy &1 1 RO 82

1. fageA

2. oA

3. TG o
4. TiT=31eq

Options :

2268952588870. 1
2268952588871. 2
2268952588872. 3
2268952588873. 4

Question Number : 285 Question Id : 226895667759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

e gl H 38 TUREE &, dl SU®! 0T 3iS B H fdra- TURE gz

1.38
2.57
3.19
4.76

Options :

2268952588874. 1
2268952588875. 2
2268952588876. 3
2268952588877. 4



